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SHYEMD 118,575,352 113,266, 119 5,309,233
= 38,536,839 37,248,303 1,288,536
= 58,740,000 55,130,000 3,610,000
p) 57,600 57,600 0
= 53,460 29,300 24,160
< 21,187,453 20,800,916 386,537
A= A SM(sHllSSEM/ s - &) 49,575,405 48,317,034 1,258,371
= 37,361,974 36,598,703 763,271
= 7,735,000 7,425,000 310,000
J| 57,600 57,600 0
=2 53,460 29,300 24,160
< 4,367,371 4,206,431 160,940
sgudIEt 2= 42,383,444 40,847,473 1,535,971
= 33,425,824 32,392,553 1,033,271
s 7,735,000 7,425,000 310,000
D 57,600 57,600 0
< 1,165,020 972,320 192,700
g - =& 3dWSE S8 AHBFA 56,700 63,000 A6,300
203 P 2=&H| 56,700 63,000 26,300
03 AFXHR2FZXIH| 56,700 63,000 26,300
OMsHEAHERS =2 18,000 20,000 A2,000
OXEB=sHAIM =& 18,000 20,000 A2,000
O=8g ZHY SHBAM =& 18,000 20,000 A2,000
OsY - s& FRMNLAAMY =X 2,700 3,000 A 300
sSHAMH =X L YR =3 88,620 123,620 /35,000
202 OiH| 88,620 123,620 A35,000
04 =HIs0dhl 53,000 88,000 35,000
OlAYER =3 L (= B8) 53,000 88,000 35,000
NEsSEHAH QHEIE X 390,000 0 390,000
g 300,000 0 300,000
< 90,000 0 90,000
308 XX HHSOIH 140,400 0 140,400
s 108,000 0 108,000
== 32,400 0 32,400
01 MHRSHIFAEEZ 140,400 0 140,400
OXNY=sH2HAEH QHMEE XK 140,400 0 140,400
s 108,000 0 108,000
== 32,400 0 32,400
403 XX SHHSKA=201H 249,600 0 249,600
g 192,000 0 192,000
< 57,600 0 57,600
01 MXISHAEEX 249,600 0 249,600
OXNY=sAU2HAEH QHMEE X 249,600 0 249,600
s 192,000 0 192,000
== 57,600 0 57,600
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MASEEAFTZM('08EE) 153,271 0 153,271
= 153,271 0 153,271
308 MXIHHSOIH 163,271 0 153,271
= 153,271 0 153,271
01 MXEHINELS 163,271 0 153,271
ONASENMINFZIENM('08EE) 163,271 0 153,271
= 153,271 0 153,271
SEMA SHAIY BB XL 10,000 0 10,000
s 10,000 0 10,000
201 LEH2HH| 5,000 0 5,000
s 5,000 0 5,000
01 AtR2teld] 5,000 0 5,000
OELMY 4 HRFZH 5,000 0 5,000
s 5,000 0 5,000
202 Oddl 5,000 0 5,000
s 5,000 0 5,000
01 S 5,000 0 5,000
OEMY =4 HRFH 5,000 0 5,000
s 5,000 0 5,000
LNSEY BHE |4 ,024,000 0 ,024,000
= 880,000 0 880,000
< 144,000 0 144,000
308 XXIHHSOIH 104,000 0 104,000
= 80,000 0 80,000
< 24,000 0 24,000
01 MXEMIHELS 104,000 0 104,000
OLNZEH BdHE 4 104,000 0 104,000
= 80,000 0 80,000
= 24,000 0 24,000
403 AXIHHSA=01H 920,000 0 920,000
= 800,000 0 800,000
S 120,000 0 120,000
01 MUXISMA=2E = 920,000 0 920,000
ONSEYN EcHE AL U3 920,000 0 920,000
= 800,000 0 800,000
= 120,000 0 120,000
SEOMXIe a2 & gy 3,986,811 3,994,411 27,600
= 2,030,250 2,030,250 0
= 53,460 29,300 24,160
= ,903, 101 1,934,861 A 31,760
Hgel DML stk X& 910,000 950,000 A 40,000
308 AXIEHSOIA 910,000 950,000 240,000
01 XM EXS 910,000 950,000 A 40,000
Os0el DwliH sit=s X& 910,000 950,000 240,000
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T s ZAH XY 133,650 133,650 0
2 53,460 29,300 24,160
= 80,190 104,350 24,160
308 XX EHHI S 0| H 133,650 133,650 0
g 53,460 29,300 24,160
[ 80,190 104,350 24,160
06 DSII2HHEZES 133,650 133,650 0
OXNY s ZAH X2 133,650 133,650 0
g 53,460 29,300 24,160
[ 80, 190 104,350 24,160
SEZ2 2E X 32,400 0 32,400
308 KXl EHH S OI & 32,400 0 32,400
01 UXSHBARES 32,400 0 32,400
OsZ£2 22 N 32,400 0 32,400
=0l S4 3,205, 150 3,475,150 A270,000
= 1,905,900 2,175,900 A270,000
= 1,299,250 1,299,250 0
SoAYAME XY (=2]) 330,000 600,000 A270,000
= 330,000 600,000 A270,000
308 XHXICHHISOIH 330,000 600,000 A270,000
= 330,000 600,000 A270,000
01 UXSHBARES 330,000 600,000 A270,000
OsdBAALY N 330,000 600,000 A270,000
= 330,000 600,000 A270,000
soEZeMeis 29(21) 1,600,000 1,600,000 0
= 960,000 960,000 0
< 640,000 640,000 0
307 Q12101 X 1,600,000 1,600,000 0
=2 960,000 960,000 0
[ 640,000 640,000 0
02 QIFABE 1,600,000 1,600,000 0
O=UDIOAHUE 2 1,600,000 1,600,000 0
= 960,000 960,000 0
= 640,000 640,000 0
LASENY B (SPHSSM/SY - 5E) 65,578, 171 61,531,800 4,046,371
= 1,174,865 649,600 525,265
2 51,005,000 47,705,000 3,300,000
= 13,398,306 13,177,200 221,106
SEHE0s Y 245 961,800 901,800 60,000
= 709,600 649,600 60,000
= 252,200 252,200 0
SANEMENS AR HEXS(2D) 309,600 249,600 60,000
= 309,600 249,600 60,000
308 XXl EHH SOI & 309,600 249,600 60,000
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= 309,600 249,600 60,000

01 MXSHBLEEXZ 309,600 249,600 60,000

Os=sdoEMENE ARE MWEXE 309,600 249,600 60,000

= 309,600 249,600 60,000

SE2ZI|E &5 2,586,371 2,015,000 571,371

2 465,265 0 465,265

s 1,550,000 1,550,000 0

7 & 571,106 465,000 106, 106

SESHN(2D) 40,000 0 40,000

2 40,000 0 40,000

308 XX HHSOIA 40,000 0 40,000

= 40,000 0 40,000

01 MXEHINELS 40,000 0 40,000

Os=EsHXE 40,000 0 40,000

= 40,000 0 40,000

BN NEHI =M (=) 141,371 0 141,371

= 125,265 0 125,265

= 16, 106 0 16, 106

308 MXIHHMSOIA 141,371 0 141,371

= 125,265 0 125,265

& 16,106 0 16, 106

01 XEXISHHMZ 141,371 0 141,371

OEET 141,371 0 141,371

= 125,265 0 125,265

= 16,106 0 16,106

MI2otB2t =4 390,000 0 390,000

= 300,000 0 300,000

= 90,000 0 90,000

403 [tXIEHS 390,000 0 390,000

= 300,000 0 300,000

= 90,000 0 90,000

01 XHXIEHA 390,000 0 390,000

oues 390,000 0 390,000

= 300,000 0 300,000

& 90,000 0 90,000

sSEXNS g 62,030,000 58,615,000 3,415,000

s 49,455,000 46,155,000 3,300,000

= 12,575,000 12,460,000 115,000

AMESANG(ZD 26,300,000 23,000,000 3,300,000

s 26,300,000 23,000,000 3,300,000

403 AHXIEH S At 11,018,000 7,718,000 3,300,000

2 1,018,000 7,718,000 3,300,000

01 XEXISHHM At 11,018,000 7,718,000 3,300,000

s&g 3,300,000 0 3,300,000

2 3,300,000 0 3,300,000
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A 15,000
A 15,000
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A 35,000
A20,000
220,000
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150,000
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150,000
150,000
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A 600
A 600
A 600
4,800
4,800
4,800

291

291
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227,000
99,000
84,000
40,000
90,000
50,000
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417,285

373,620

28,800
6,000
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245,820

373,620
344,820
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192,000
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150,000

150,000
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